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A torque, T, is caused by a force, F, acting at t — Fd
a distance, d, from the centre of rotation (X) =

SUPPORT
EXAMPLE 1: When everthing is balanced (mechanical equilibrium) Fe

FS=FW+Fp T

—

(Mechanical equilibrium requires two conditions\
I:up = Fdown (no movement) WEIGHT

PUSHING
: Fu DOWNWARDS
Gclockwise = Tanticlockwise (N0 rOtathn)/ Fo

Mechanical Equilibrium of Plank EXAMPLE 2:
When torques don’t balance rotation occurs
Fs, Fs,

d
. :

Woman accelerates
downwards

Fod, # Fqd,

EXAMPLE 3

Fabddb + Fwdw * Fpdp
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